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QUESTION 1

While working in the Document Manager tool, which statement is true about a document that has been checked out? 

A. It is not accessible to the application. 

B. It cannot be checked out by another person. 

C. It can be checkout out again, but only by the owner of the document. 

D. It cannot be checked out again until the document record has been published 

Correct Answer: B 

 

QUESTION 2

A data load was done incorrectly resulting in a number of records not being set up correctly. There are too many to
modify by hand so a workflow gets written to fix the deficiency. What should the workflow be tied to and triggered from? 

A. A Patch Helper 

B. A Workflow Helper 

C. A Calculation Helper 

D. A Notification Helper 

Correct Answer: A 

 

QUESTION 3

Click the Exhibit button. 
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While troubleshooting associations on a World Region record of Europe, the Associations tab shows these conditions
while exploring the triCountry associations. What do the results indicate? 

A. Europe has duplicate associations to France, Germany, Ireland, and Italy. 

B. France, Germany, Ireland, and Italy will not show up properly in the Geography hierarchy. 

C. Europe has the association Is Parent Of and the association Is Parent World Region to several countries. 

D. Europe has the association Is Parent Of and the reverse association Is Parent World Region to several countries. 

Correct Answer: C 

 

QUESTION 4

What does using a system keyword within an association filter allow a developer to do? 

A. Filter based on relationships to user input at runtime 

B. Filter based on a relationship to another query result set 

C. Dynamically change the record used as the basis for the association filter 
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D. Overload the data type provided as the filter source for the association filter 

Correct Answer: C 

 

QUESTION 5

A developer has been tasked to create a method to push a record from the null state to the triActive state without having
the action available on a form. What should be done to implement this design? 

A. Create a state transition from null to triActive in Form Builder and keep Visible unchecked in the state transition
properties. 

B. Create a state transition from null to triActive in Data Modeler and keep Default Display unchecked in the state
transition properties. 

C. Create a state transition from null to tri Draft, another from tri Draft to triActive in Form Builder, and keep Secondary
Action checked in the state transition properties. 

D. Create a state transition from null to tri Draft, another from tri Draft to triActive in Data Modeler, and keep Secondary
Action checked in the state transition properties. 

Correct Answer: B 
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